
Version: 2018/05/15a EN

Spare Parts Catalogue





TABLE OF CONTENTS

Base and Legs
Base assembly with electrical legs . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Actuator for electrical legs . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Electrical Parts
Control units . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Mast and Boom
Mast assembly . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Boom assembly . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Actuator for mast and boom assembly . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Spreader Bars
Spreader bar 2 points (450/550 mm) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Spreader bar 4 points (45/550 mm) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Accessories
Tools Kit . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5. . . . . . . . . . . . . . . . . .
6. . . . . . . . . . . . . . . . . .

7. . . . . . . . . . . . . . . . . .

8. . . . . . . . . . . . . . . . . .
9. . . . . . . . . . . . . . . . . .

10. . . . . . . . . . . . . . . . .

11. . . . . . . . . . . . . . . . .
12. . . . . . . . . . . . . . . . .

13. . . . . . . . . . . . . . . . .





Invacare® Jasmine | Base and Legs

Base assembly with electrical legs

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1171524 Base for Jasmine&Roze, aluminum 1
2 1148607 Base plastic cover, blue 1
3 1146885 Left leg assembly for Jasmine 1
4 1146886 Right leg assembly for Jasmine 1
5 1161591 Kit toe protection Qty.2 1
6 1169844 Kit base hardware Qty.2 1
7 1161582 Kit front castor and hardware Qty.2 1
8 1148605 Rear castor with M12 Bolt 2
9 1171481 Kit mast/base socket 1

10 1148489 Knob, M8x1.25 2

5 / 14



Invacare® Jasmine | Base and Legs

Actuator for electrical legs

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1171363 Actuator LINAK LA12 2
2 1171360 Kit controller wire 1

6 / 14



Invacare® Jasmine | Electrical Parts

Control units

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 SP1514573-7035 Battery for CBJ control units 1
2 SP1528279-7035 Control Box Jumbo Care, electric leg 1
3 SP1078306 Bracket, Wall Mount Charger - Electric Only 1
4 SP1152391 Wall charger 1
5 1078284 Bracket battery (electric only) 1
6 1155348 Cover battery bracket 1
7 1161590 Kit battery bracket hardware 1
8 1177596 Handset, 4 Channel with Hook HB30002-XX 1
9 819430 Charger Cable (UK) 1

10 1155874 Mains Lead 3 Pin (UK) 1
11 1079135 Cord EU electric only (for Charger) 1
12 1155873 Cord EU electric only (for Controller) 1

7 / 14



Invacare® Jasmine | Mast and Boom

Mast assembly

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1169841 Kit mast connector 1
2 1161580 Kit push handle, blue 1
3 1146890 Mast for Jasmine 1
4 SP1161587 Package, Wire Lock Qty.10 2

8 / 14



Invacare® Jasmine | Mast and Boom

Boom assembly

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1156224 Kit hanger bar hardware (EU) 1
2 1148533 Screw  (3/8 x 1-11/16,5") 1
3 1152387 Washer 11/32 x 7/8 x 5/64 1
4 1156017 Boom Full-Body Jasmine EU & AZ, white 1
5 1156225 Kit label and decal Jasmine (EU) 1

9 / 14



Invacare® Jasmine | Mast and Boom

Actuator for mast and boom assembly

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1169843 Kit mast and boom actuator hardware 1
2 1148483 Actuator for mast LINAK LA34 1

10 / 14



Invacare® Jasmine | Spreader Bars

Spreader bar 2 points (450/550 mm)

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1540375 Spreader bar 2pts 450mm 1
2 1540376 Spreader bar 2pts 550mm 1
3 SP1443855-7012 Ferrule Inside Diameter 30x3 (RAL 7012) Qty.2 2

11 / 14



Invacare® Jasmine | Spreader Bars

Spreader bar 4 points (45/550 mm)

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 1540377 Spreader bar 4pts 450mmm 1
2 1540378 Spreader bar 4pts 550mm 1
3 SP1443855-7012 Ferrule Inside Diameter 30x3 (RAL 7012) Qty.2 2

12 / 14



Invacare® Jasmine | Accessories

Tools Kit

Version: 2018/05/15a EN

Pos. Part number Description Valid from → until Qty

1 SP1641706 Tool kit Jasmine 1

13 / 14



EN

©
 In

va
ca

re
®

 In
te

rn
at

io
na

l S
ar

l 2
01

8.
 A

ll 
R

ig
ht

s 
R

es
er

ve
d.


